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Part A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes each sentence. Then mark

your answer sheet.

=\ 1- Bad weather has ......... the bombers that lack modern night — attack equipment.
1) grasped 2) hampered 3) utilized 4) abated
R 2- Jacob was ......... for always arriving late for work, a habit that finally led to his being fired from work.
1) haphazard 2) infinite 3) innate 4) notorious
A 3- It would put his career at risk, but that was already in ......... , so what had he to lose?
1) jeopardy 2) perspective 3) magnitude 4) neglect
R 4- Legal requirements state that working hours must not ......... 42 hours a week.
1) legitimize 2) linger 3) mingle 4) exceed
TR\ 5- The student’s essay was empty of errors, indicating that it had been ......... written.
1) painstakingly 2) massively 3) impartially 4) ingenuously
2 6- The boy was simply a beggar: his bundle of newspapers was a ......... , and we called him the Newspaper Boy.
1) legend 2) limitation 3) pretext 4) drawback
™ 7-1donot ......... ever having been to Paris, although my mother says we went there when I was a child.
1) rehearse 2) recollect 3) recede 4) recast
R 8- Because of ......... conditions, the hikers decided to give up trying to climb the mountain.
1) vague 2) ungainly 3) adverse 4) vigorous
R 9- I sat watching as the sun reached its ......... and the muezzin began to call the people to prayers.
1) lucidity 2) triumph 3) spectacle 4) zenith
2 10- The children were tired and ......... and didn't seem interested in any of the games.
1) sluggish 2) mandatory 3) strict 4) cordial

Part B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each

space. Then mark your answer sheet.

A healthy man in his early 60s begins to notice that his memory isn’t (11)... . More and more often, a word will be
(12)...... the tip of his tongue but he just can’t remember it. He forgets appointments, makes mistakes (13)...... , and
finds that he’s often confused or (14)...... about the normal hustle and bustle of life around him. One evening, he
suddenly finds himself (15)...... in a neighborhood a couple of miles from his house. He has no idea how he got there.

W 11- 1) used to being as well
3) is not so well as it used to be

W 12- 1) with 2) by

W\ 13- 1) pays his bills
3) while bills paid

W 14- 1) anxiously
W 15- 1) although walking  2) While he is walking

2) anxiety

2) as good as it used to be

4) used as well as was it

3) on 4) at

2) when paying his bills

4) to pay the bills he does

3) anxious 4) be anxious

3) he is walking 4) walking
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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3) or (4) that best completes each sentence. Then mark your
answer sheet.

R 1- Jane was terribly bored, but she ............... interest so as not to hurt her friend's feelings.
1) admitted 2) validated 3) endeavored 4) feigned
R 2-Having a ............... knowledge of economics, I did not understand anything out of the speaker's speech.
1) rudimentary 2) superfluous 3) hazardous 4) clandestine
TR 3- In the hands of inexperienced drivers, high-powered cars are actually ............... weapons.
1) inflexible 2) lethal 3) regretful 4) spontaneous
R 4- The many ............... in the text for sure detract from its real value.
1) safeguards 2) variables 3) digressions 4) consistencies
& 5- The human brain is well known to differ considerably from the chimpanzee brain in ......... of size,

organization and complexity, among other traits.

1) light 2) regards 3) terms 4) aspect
W 6- Irrigation is essential to most high-yield farming, but many aquifers that supply irrigated crops are
being drawn down faster than rain can ............... them.
1) deplete 2) overcome 3) vanish 4) recharge
R 7- It is a pity that the ............... between the two neighboring countries is well rooted and hard to remove.
1) misanthropy 2) antipathy 3) urgency 4) vagueness
T 8- Hair that's thick and ............ needs regular trimming.
1) luxuriant 2) arbitrary 3) excessive 4) fragmented
& 9- Their lack of qualifications ............... them to a lifetime of boring, usually poorly-paid, work.
1) devoted 2) conveyed 3) condemned 4) captivated
X 10- The............... of differences among cultures clearly shows that mental health professionals are ill

advised to apply their classifications of personality disorders to people from other cultures.
1) dispersal 2) disarray 3) ignorance 4) multitude

Part B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark your answer sheet.

The Olympic stadium was silent. The spectators held their collective breath. The 100-meter finalists crouched
against their starting blocks, (11) ...... their backs as the starter raised his pistol and announced, "Set...!" Each
powerful sprinter, poised to explode when the gun went off, was keenly aware of what hung in the balance. They
had trained (12) ...... every day for years to prepare their bodies for this one race.
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Part A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the
correct choice on your answer sheet.

T 1- In spite of the considerable effort .......... , many questions still remain unanswered, thus justifying
continuous research in this field of inquiry.

1) taken 2) wasted 3) invested 4) intended
A 2- The fact that "innovation" is frequently alluded to not only .......... the importance of the topic but also
generates much confusion, because its meaning depends strongly on the context in which it is used.

1) highlights 2) circumvents 3) alleges 4) cites
R 3- He was stopped by the police for transgressing the law; he had actually been driving faster than the
speed .......... .

1) calculation 2) permit 3) monitoring 4) limit
2 4- I thought he was really hurt and became worried but later I realized that he was just .......... it.

1) emerging 2) faking 3) revealing 4) deserving
R 5- Irene's arguments in favor of his client's innocence were So ........cc.e.... that no jury member could
resist them.

1) colloquial 2) enthusiastic 3) cogent 4) competitive
T 6- Believe it or not, laughing is considered to be one of the easiest .................. exercises that can cure
many diseases.

1) transparent 2) benevolent 3) provocative 4) therapeutic
& 7- While Alex is very spendthrift and spends money recklessly, his brother Stew is quite ..........ccovessene.
and spends only when it is necessary.

1) thrifty 2) assiduous 3) gregarious 4) grumpy
2 8- Chronic illness can ................ people in hospital. But what if they could access all the care they needed
at home in virtual wards?

1) suffer 2) necessitate 3) trap 4) involve
R 9- The underlying message of the film is that love can transcend all ................... .

1) impacts 2) barriers 3) analogies 4) interjections

R 10- It is no use arguing over such a trifling matter; instead we should discuss the matters of importance

and .......... .
1) pragmatism 2) facility 3) priority 4) jeopardy

Part B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space.
Then mark the correct choice on your answer sheet.

Genetically modified superhumans. Babies born with made-to-order characteristics. The idea has been explored in
everything from academic journals .....(11)..... movies. CRISPR technology could make it .....(12)..... .

The ability to alter human genes in a way that can be passed onto offspring, .....(13)..... germline engineering, has
long been possible. But .....(14)..... genetically modify animals were so inefficient and crude .....(15)..... no sane
biologist would dream of using them on humans. Tinkering with the genes inside people has been limited to gene
therapy, where the changes don’t get passed to the next generation.
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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the
correct choice on your answer sheet.

A 1- Lawyers for both parties will convene this morning to see if a ................ can be reached before
the matter reaches the court.
1) transparency 2) realism 3) settlement 4) discipline
W 2- Later he...uunnne.. her daughter for having talked to her teacher impolitely.
1) prevented 2) scolded 3) restricted 4) neglected
X 3- The volcano had remained ................ for over a hundred years, and most people thought it
would never burst again.
1) dormant 2) drastic 3) severe 4) incidental
B 4- You will certainly ................ your sprained ankle if you attempt to play basketball today.
1) coerce 2) avoid 3) discomfit 4) exacerbate
B 5- My medical condition is ................ and cannot be altered even with medication.
1) immutable 2) exhaustible 3) durable 4) demanding
T 6- The comedian hoped his jokes would ............ a great deal of laughter from the audience.
1) pursue 2) explode 3) necessitate 4) elicit
X 7- Because Kelly’s parents were not affectionate, she grew up suffering from a/an .......cccceeeee of
love and affection.
1) isolation 2) malfunction 3) violation 4) deprivation
A 8- Although we may never completely ................ every disease on earth, it's heartening to see the
progress medicine has made on so many fronts.
1) overlook 2) eradicate 3) suspend 4) forecast
B 9- As people mature, their................ skills become more developed, so they are capable of solving
more complex problems.
1) collective 2) sufficient 3) cognitive 4) hypothetical
X 10- T wonder why Cathy spends so much time telling me .............. facts that have nothing to do with me.
1) curious 2) identical 3) irrelevant 4) unequivocal

PART B: Cloze Passage
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space.
Then mark the correct choice on your answer sheet.

The job of theoretical physicists is twofold: first, to explain what our experimental colleagues have discovered;

and second, (11)................ phenomena that have not yet (12)................ . The history of scientific discovery
shows that progress is achieved using (13)................ .
Quantum theory, for example, was largely driven by empirical results, (14).............. Einstein's general theory of

relativity was (15).............. speculation and thought experiments, as well as advanced mathematics.
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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the
correct choice on your answer sheet.

W 1- Fierce winds and deadly waves were only one ......... many explorers like Christopher Columbus

confronted when sailing to unknown lands.
1) suspension 2) obstacle 3) shortage 4) variation

R.2- In urban desert areas potable water supplies are stressed by increasing demands that leave water

managers ......... to find new supplies.

1) discouraging 2) refusing 3) invading 4) struggling
A.3- The sense of smell diminishes with advancing age - much more so than the sensitivity to taste. This
......... may result from an accumulated loss of sensory cells in the nose.

1) decrease 2) merit 3) ambiguity 4) defense
. 4- True, all economic activities have environmental consequences. Nevertheless, the goal of shrimp
producers should be to reduce the ......... effects on the environment as much as possible.

1) indigenous 2) competitive 3) deleterious 4) imaginary
. 5- Like most successful politicians, she is pertinacious and single-minded in the ......... of her goals.

1) pursuit 2) discipline 3) permanence 4) involvement
R.6- Knowing that everyone would ......... after graduation, she was worried that she would not see her
friends anymore.

1) emerge 2) conflict 3) differentiate 4) diverge
. 7- Certain mental functions slow down with age, but the brain ......... in ways that can keep seniors just
as sharp as youngsters.

1) composes 2) conveys 3) compensates 4) corrodes
2. 8- It is argued by some that hypnosis is an effective intervention for ......... pain from cancer and other
chronic conditions.

1) displacing 2) alleviating 3) exploring 4) hiding
R.9- Children who get ......... atmosphere at home for studies perform better than students who are
brought up under tense and indifferent family atmosphere.

1) favorable 2) valid 3) obedient 4) traditional
2.10- The post office has promised to resume first class mail ......... to the area on Friday.

1) attention 2) progress 3) expression 4) delivery

PART B: Cloze Passage:
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space.
Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. ...(11)... 1970, she completed her first performance with
Hommage a Delacroix, ...(12)... was the beginning of an artistic career ...(13)... to the oneness of art and life.
...(14)..., actions and performances on streets and public squares, followed by her "living environments" and the
"windows", ...(15)... in a selected pose with an elaborate arrangement of fabrics and lace.
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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the
correct choice on your answer sheet.

A 1- I would like to compliment Jaden for the course of action he recommended because I think it will

.............. our problem once and for all.
1) signify 2) settle 3) sequence 4) speculate
& 2- AN e is often expressed as a simile, as in "The football game was like a battle between
gladiators."
1) analogy 2) arena 3) endeavor 4) invasion
A 3- Do you know of an alternate route we could take to ............. having to drive through the city?
1) partake of 2) suggest 3) circumvent 4) delight in
T 4- My political science professor presents her lectures in a relaxed manner using .................. rather than
elaborate language.
1) literary 2) inflated 3) loquacious 4) colloquial
T 5- My uncle, a farmer, is an ............. pessimist when he discusses the weather. For example, if the sun
is shining, he's sure a drought is beginning; if it’s raining, he's sure his crops will be washed away.
1) immutable 2) interactive 3) initial 4) instant
R 6- The pharmaceutical company had to ........... its advertising claim regarding the healing power of its
new arthritis medicine because research studies clearly indicate the medicine isn't effective.
1) distribute 2) replicate 3) repudiate 4) enhance
W 7-It's an ........ to their friends as to why the couple broke up because they seem perfect for each other.
1) alteration 2) enigma 3) interference 4) inference
A 8- Mr. Baker has decided to move to a big city because of a ............. of employment opportunities in
his small hometown.
1) trace 2) dearth 3) demonstration 4) foundation

& 9- There are many good reasons for not smoking, but those having to do with health are the most

1) paradoxical 2) accidental 3) passionate 4) cogent

™ 10- ... therapy is a psychological approach designed to help individuals change harmful thought

patterns to more constructive ones.
1) Cognitive 2) Epidemiological 3) Inherent 4) Thoughtful

PART B: Cloze Passage:
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

The earliest human artifacts showing evidence of workmanship with an artistic purpose ...(11)... the subject of
some debate. It is clear that such workmanship existed some 40.000 years ago in the Upper Paleolithic era,
....(12)... it is quite possible that it began earlier. In September 2018, scientists ...(13)... the discovery of ...(14)...
by Homo sapiens, which is estimated to be 73,000 years old, much earlier than the 43.000-year-old artifacts
...(15)... to be the earliest known modern human drawings found previously.
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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the
correct choice on your answer sheet.

=\ 1- I omitted all the extraneous details while explaining the ........... of the matter to him.
1) breach 2) distinction 3) qualm 4) gist

2\ 2- While his brother writes in an unclear and clumsy way, Sam himself is known for his ............. style
of writing.

1) lucid 2) verbose 3) dull 4) feasible
T 3- Poultry farms place the eggs into incubators to ............. the growth of the embryo into chicken.

1) conquer 2) hasten 3) outline 4) elude
R 4- With as many as three witnesses giving evidence against her, the .............. of her claim that she was
innocent was in serious doubt.

1) demonstration 2) paradigm 3) veracity 4) empiricism

™ 5- I did not like her way of teaching because her lecture had too many digressions; she kept on

wandering to various subjects, most of them not ................ to the central idea of her topic.
1) vulnerable 2) peripheral 3) pertinent 4) loyal
R 6- With the advent of electric bulbs and emergency lights, the use of gas lamps became ............... .
1) imprecise 2) repetitive 3) idealistic 4) obsolete
TR 7- The employee did not believe the implausible story that Janet ............ to justify her absence from work.
1) concocted 2) scrutinized 3) manipulated 4) reassured
& 8- The doctor has advised him to ............. adhere to the prescribed regimen; otherwise, there is a
danger of relapse of the illness.
1) sequentially 2) strictly 3) ineptly 4) selectively
™ 9- The ..cuuee.eee.e. in her speech can put off almost anyone; she urgently needs to tone down the harsh
words she uses.
1) explicitness 2) enigma 3) shortsightedness 4) acerbity
R 10- He is so wasteful; he has ................ all the money that he had borrowed from me, and is now back
again asking for more.
1) allocated 2) neglected 3) depleted 4) accumulated

PART B: Cloze Passage:
Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then
mark the correct choice on your answer sheet.

Good learners work hard. A few things may come easily to learners, but most knowledge requires effort ...(11)...
to put in the time. They talk with others, read more, study more and carry around when they don’t understand,
...(12)... about it before they go to sleep, at the gym, on the bus. Good learners are persistent. When they fail, they
carry on, ...(13)... that they will figure it out eventually. ...(14).... they learn from their mistakes. Good learners
recognize ...(15)... always fun. But that does not change how much they love it.

& 11- 1) which is good learners willing 2) and good learners are willing

3) that good learners willing are 4) willing are good learners
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PART A: Vocabulary
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then mark the
correct choice on your answer sheet.

WD 1-I.......... the argument because I didn't know enough about the subject.
1) depicted 2) confronted 3) dropped 4) broached
R 2- Because my husband is a .......... supporter of the high school football team, he donates money to
their organization every year.
1) zealous 2) anomalous 3) receptive 4) successive
R 3- Since the journey is .......... , be sure to bring a first-aid kit.
1) courageous 2) cautious 3) enormous 4) perilous
2 4- The writer's stories appeal to a wide range of people—young and old, .......... and poor, literary and
nonliterary.
1) economical 2) financial 3) affluent 4) elite
R\ 5- His nostalgic .......... of growing up in a small city are comical, though they are perhaps embellished

for comic effect.

1) impacts 2) accounts 3) entertainments 4) bibliographies
R 6- On a chilly night, you might like to curl up by the fireside and .......... a cup of hot chocolate while
reading one of Thurber's books.

1) imbibe 2) amalgamate 3) relieve 4) fascinate
& 7- Although Mr. Jackson was .......... , he attempted to be jovial so that his colleagues at the meeting
wouldn't think there was a problem.

1) unpretentious 2) painstaking 3) apprehensive 4) attentive
. 8- Obviously the network is overreacting and engaging in .......... when they say “55 million people are

in danger!” for normal thunderstorms.

1) distinction 2) exaggeration 3) expectation 4) justification
TR 9- My high school biology teacher loved to .......... from science into personal anecdotes about his college
adventures.

1) evolved 2) converted 3) reversed 4) digressed
A 10- Landing a plane on an aircraft carrier requires a great deal of .......... , as you can crash if you miss

the landing zone by even a little bit.

1) precision 2) innovation 3) superiority 4) variability
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